228> RfN7006 EUikEREIS

HA T AE
BEEEAMITBRIC, Y2/ UV IEE B0 - \NTUR, EitY
PEICHULTIZ - YOBEE VT AETERWVCRWED £,
BEBREN. hYOVEEETH D u=0.12 ERZIERI VA%,
V2T DERBRDETOREICER LTSV,

ZOBR, EYITURBERZEET AL - YR, HBWE AR
BORERIFERLBVWTLEEW, ( BUERLIBEIE. AP0
RIEOHRENEBINE B A, £l NS TIUPEREZHEIZERICD
’BODEYT, )

NI VALINDBGERZ S, BOMTFRILNEETFED. ¥2/80
VI ERBENTROBEICEY NULET,

ZFOR. EEREDPBVRISTERRS Yy ML TLEE W,

Ty AET U5, TROERNS . RIL MDD IF MLV EZFAHI -
TLIEE W,

B¢ 1/3 Ta
~42/3Th

Ei T

ROBFTRIL N EFHDF TS W,

(1) 2TORIL S ZfESFF ML E (TA) D 1/3 DIET. B LICHED
MFFEEZTVET,

(2) 2/3 DFFEDRT MILIE (TA) T WA LEICHEDNFEEZTVET,

(3) MEHM T MLV E (TA) T WA LICHSNITEEZ 3 AULETVE
3-0

(4) 2TOMHDRIFRILADFAED ML THEE>TWEEZF vy
LTLEEEW, FRED ML ZEZ, fEHMITNILNDEE L AWK
ICFELBEMMIINTET LIEICBD XY,

CEx]

IV N DD BERIE BT L DOER T RBENICHO N T 1EEZT -
TLIEE W,

TED ARSI EEZITS &0 —BORIL MTBEBEFAHMD, R
IWEHBHR U D BB U ToRL hEEERRAREI L. (FEENERZT 2R
E. BERBERESISRIIBNDHD T,

EEAERNLIERZ LRITNIE. XYy TE2FHL. BHOEROHKIE -
BROBERE, FEROBEMCENZBNLHDEITDOT. BT ML
VFEEALLIEE N,

228 > RfN7006| #EefFHFHRIL S bt iF LS E
RETLX HA4X TA (Nm)
@19 ~¢40 M6 x 20 17
¢42 ~¢65 M8 x 25 41
@70 ~p95 M10 x 30 83
@100 ~¢ 130 M12 x 35 145

A RCOWTRBBEWEDESEEL,

“ RINGFEDER

MOANULAE

HU. Ya/Xv UV INRIANTENTPE - 2/ U YIS TL

BOWEKSBRERARZ UV THRBELTLIZE W,

Y2/ Y5 RINT006 (ERIL N EEH - T TIIDETET Ao

ZDIHDNEAY Y TIRDEBINTWETD,

(1) 2TOHEHIFRIL N ZERIENICIRA ICEDET,
—SRICEDDEBEINRILNEFICEERENEN DRIV NIE -
REDERENMED X,

(2) N7 S VcH 29y TRDEHDEROY vvFRNICRDET,

ORI RILNZRURAHET, (FOMFRILNDIDEARIL L &

UTERTEEY, )

DERARIL N ZFOAITEZ EICL>T. RIL b DEHL R DIH

HEHUANGHEEICHBRE UDRTEET, COEETEICEWT

BERODERRIL N DR UAHDISHFICRD LS FELEET W,

HU. PUNT YR BRLAHZ ULET ENENREICKRD, £/H

FRICEBEZRTZENHDET, NTAHSEODA LY 2/80

VI DEN—VICEENGRWHERTHEND A I ERG U LRE

DIHACEZ T ES W,

(3

=

DO FMRIL ~ —

NI NN\
_ ,4H>, |
Lo 7 O PSS
AT SV Fae=UY27




RfN7006 Installation and removal instructions

Installation

Since the force is transmitted by contact pressure and friction
between functional surfaces,condition of contact surface and
proper tightening of the locking screw are of great importance.

-9 1/3 Ta
42/3Ta

Ei Ta

(1) All contact surface,including screw threads and screw head
bearing surfaces, must be clean and slightly oiled. (Do not use
Molybdenum Disulphide!) In this condition, the shaft, hub and
Locking Assemblies are to be assembled.

(2) Tighten Locking screw lightly and align hub.

(3) Tighten screws evenly in diametrically opposite sequence and
do this in two or three stages up to the indicated tightening
torque (TA).

(4) Re-check tightening torque by applying it to all screws all the
way around. When no screw will turn any more. the assembly is
completed.

[CAUTION]
When tightening bolts, be sure to use a torque wrench to control
the tightening torque.(TA)
Otherwise, the performance according to the catalog specifications
cannot be exhibited.

Read the tightening torque value of the bolt from the table below.

Locking Assemblies Tightening bolt Tightening torque
RfN7006 shaft dia.(mm) size TA (Nm)
@19 ~¢40 M6 x 20 17
$42~¢65 M8 x 25 41
@70 ~¢95 M10 x 30 83
@100 ~¢ 130 M12 x 35 145

Please contact us for other sizes.

“ RINGFEDER

Removing

The Locking Assemblies RfN 7006 are to be removed in the

following sequence:

(1) Loosen all screws by a few turns.

(2) Remove the screws adjacent to each threaded bore and
screw them into these bores pressing off the outer ring. The
connection is then released.

(3) The connection can be either re-adjusted or dis-assembled.
Remove the jack screws only after the Locking Assembly has
been taken out of the hub.

Dismount and clean dirty undamaged Locking Assemblies before
re-use.

Tightening bolt 7:1

NN\

4} L

e S

Inner flange Outer ring




